1 MOB 130-1 Tube 30x30x2 L:1230mm| 2
2 MOB-2 Tube 30x30x2 L:470mm | 4
3 MOB-3 Plat plié 30x6 485mm | 2 | °
4 MOB-4 Plat plié 20x8 265mm 1
5 MOB-5 Talon 8mm 2
6 MOB-6 Clavette 3mm 1
7 ISO 4014 - M10 x 55 Bolt M10x55 2
8 ISO 7040-M10 Nut M10 - Nylstop 2
9 ISO 4014 - M6 x 35 Bolt M6x35 1
B
10 ISO 7040-M6 Nut M6 - Nylstop 1
C
~\ TER INDL_JSTRIES.CO.,LTD QE e
dip galvanized \ RuGa0.clty Jangeu provinees china ™ Eaatte
Hot dip ga FERR ) o056 15555050000 e
. E-mail: info@ter-industries.com A I
s e oo CADRE ETAI TER MOBILE 130
A 2023/8/29 CREATE Linda S Q235 MOB 130 A4

2 REV. | DATE CREATE / MODIFICATION SIGNATURE FINISH: Hot Dip Galvanizing WEIGHT: 9 453kg SCAUBLEN:50 | SHEET2 OF 2 RE\REWA : A



